Cwiczenia 12

1 kwietnia 2014
10:36

_A/‘ @L\/V\, ij\ﬁ,\mﬁ 031y [ Sfaw ]/m/\//lmam"p,\,y

L
V= Akt s L kY

Lot 1
(‘ %%;'1 7 BWW (”“‘”%W’"ﬂ > £y

/\’lr»\j Shperie 2tmy b 0y fin oty uihiec

N lpted W 0T

1% (X\g): 1((*\‘ }/(3)

\ Cj\l%/\b J’T/\/cma«x '(

(50 5 40 ¥6 ($hain
_/\//\ + =
Vx) 3£9) Hix Y

- _—

= EA = -EJ
/1/[{‘3 e e e i~ r'w-,{)(}j - e znj
et
Yo=Y W= A 1 Me & me=a., 2
?’L

© (y)= %«J 9)° 74? 4. (otﬂt i 970 -,

Eo” Bl (met)
.y - &Ar )
Y np ( (J.Wr L st QAK’Z%
/\f@"c,"*»\:\ /\{//"\x (A A‘Cqu,( (7)

Kwanty R 2014 Strona 1



Moy M 9)
By HE (ett)+ b (;?(MM)
@yymw« M.frm\r(\:j kay =g
i
Eé”“/"‘ﬂ > 4 J;,"f: ( £ “Q

/\1@ U glagraes EM‘/V71'r Ledey  f gy
(\4%4—/\1_) =

r

B R

— "

Ly oo A

Z_ 0571J1‘w V}O

5{%&"‘3;’% /V\T M"%)At (17 M i hF[Mﬁ /7
) M e ’Tﬂ/rﬁg L™ (o= leq 2

R )
E ( [ = /fo//m)—m,z e(JWf‘(,,”«_\A

b (47

_/ Fmv=
2

- @M\(wﬂ)
2

L/( . O(OL\V‘ e L)w LQ,LL vooboun sTeew

Kwanty R 2014 Strona 2



O(o 14_, 1<;/|"f et ¢ b
v WA CJ“\ZZU C 2o Q) o by I L, Mﬁ%

o ol 7

- ~ P [ Ao
bt sl cil m Cc
e U= < L

’Wr'(ﬂj oA WT”:) (’7:

INEEIIRARISED

c oA
\ 1 )

Kwanty R 2014 Strona 3



!

Kwanty R 2014 Strona 4

/)



-1

/) \
y . 1
et 4 [ vt [ o

Cb/
T:

g N
T
AN ,\,ﬁ AN
__J
T

-~

!

~)

A
—_

1)

A :
VI IV IS e , e N
~ %'N{QZ]\)'Z + 0004'\1‘51\4Fl
-1 W1 A

/ NEcesd r-\I\Z_J\«o& A= Cesd

1\ e 2 ¢ ~NZ
N— Cc ok 2 ~d. A+ Carde

<.
. ZcScJo I\A\\/((_’L’V\‘Mé\mﬂédl e [ oontn T J’V»M
Ve sdpme \(’,,\,.,\5 . l’/%"f"yé (L’C7/ (L‘I’LD' <L2>
LE [ mo= 40 (#4) WLy
LQ/ ((,|/Vv\>3 £ |l/|/""‘w
[,1_: Lx+ \[—3 L_:Lx—{L

(;L{, Ljr) SN i(()'l( 3 LL(

y

1
[+ [LiwD - [U[M\ (D) )L )

I

LK/: j ,
g2 2«

(L XB’: ZL:?D - QO (sz’: /n
L a>= f-(Lf*LZ*L+L\+LL+> =

Kwanty R 2014 Strona 5



1]

[ 05~ L
e e L) €)1

] 0y - e )

—

MO RS
ZL B L{/Gﬂ “ﬂ«)lﬁ

¢ C,0 3} Mli\
RN PR

AL;«‘ A q 7
s a2 E 2 L e
= - 2L
01, e ﬁ*/‘\)l/w fm Mgy Can
é pﬁ): An < ?
L( B {‘DI\A X) (l/( -
ﬁ P S e
- ik\)v J ) \(? G\l‘(\c\,(*
. \Z T
> zT\ an ( jj "k el ) b
- . Yo~ ol =
— ’2"; g—‘(\)\&< ‘\J’} K C\Jo“l’(r%)

Kwanty R 2014 Strona 6



1)
\
r[
-

X
p
J

! L\K )] VI }

é(l”}o)ob ”\';[0,4)0)); V\h)

L ke \“% )’G\:( (l4|6\10> - [o]/\]mj> =

(e e i o)) = 52

(=~ Q - ~\ c
Y= A [ > (e,0)

o)
(,\/ﬂ _ L —J_V': <,\ [Om](") ~ Clﬂ\olcw.) N "L_\ L’\‘( )
L";lf\f DEEENGIN

WD LaneeD l“{ﬁi‘)f X

L ¢) 1
Loyt -
6:{(%3(0"/ (_\SUM"C/ (/":j I}(:Ij ,Z/'IL
= L’_iij} LLL
- 1T, 2T,
%\/(/{. 2:C ( Wl WQ{K el ol md
1
- bhbie NESEAE

Kwanty R 2014 Strona 7



- LS 5}(1_ 1
2T, + 2 \[ TR

f/lm&:j veind Ao Seee J/”b w1 1an | A

o W/ywj@‘ | L,

H[ C(u) “p\( P _

71 Jx

~L

\71{ 1y
= (ZT/A[ () + ad (i\ﬂ] (L2
-~

S

f"éwc lr’“ C’C?W C 7’15\ A

J%M ) L34/ /lm§0>

D({/U\ /fv’q‘ o A . U M\JM«E, L X “’j,/
(VL0 j/r - J“c (’)()IX ’é; .
MM\,\D 0[,1’%/)\ o= Z(_:/I‘ Mz 71 [L:/'[ /"“ZSO’D =

{ A_,L/\MB ((LM ( £4) '1?7“-/‘444/‘?

o) \EO
\I_z o Q
L«lc) )ﬁ

[r “H }

’Zmd«,]ﬂv wekidt -

o L~
~2C+ f’_\ECo: C_', \ECO

Kwanty R 2014 Strona 8



V2 C—(— ~ 2o+ ﬁ(~30
/
\EC__: 2(9‘ CC - C(,\ C__:\IECO

O R A e LT *élm& -

= §{4I,,D4 \)47_“(4107—)— L1,

AR

C% (’L{/‘”»:”( /!1/“z=0> = \é Jg =

Kwanty R 2014 Strona 9



